SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Find the location of the indicated absolute extremum for the function. - , L" )
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Find the extreme values of the function on the interval and where they occur. =

3)g(x)=-x2+10x-21on3sx<7 @ %,CX) '-'.'..--ZX . \0 :_-03) (S,g)

aws . M '.n

Find the extreme values of the function and where they occur. = -
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Find the extreme values of the function and where they occur. -
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it is decreasing.
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Give an appropriate answer.
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